SECTION II
(EDITING)

(Q. No. 11-15) Read the passage given below. Five sentences in the
passage are numbered (11-15) at the beginning. Each of the sentences has an
error. Correct them by choosing the right options.

Life is not same for every child. It is tough for some children. (11) The boys are
orphans in above the picture. (12) They has to fulfill their basic needs. (13) They feel in
secured. (14) Try to build friend when you meet them.(15) Guide them to join in an
orphanage.

11. The boys are orphans Sin above the picture.
A) The boys are orphans in the above picture.
B) The boys is orphans in the above picture.
C) The boys are orphan in the above picture.
D) They boys are orphanage above picture.

12. They has to fulfill their basic needs.
A) They had to fulfill her basic needs.
B) They have to fulfilled their basic needs.
C) They have to fulfill their basic needs.
D) They has to fulfill their basic needs.

13. They feel insecured.
A) They feel insecuring.
B) They are feeling insecured.
C) They feeled insecured.
D) They feel insecure.

14. Try to build friend when you meet them.
A) Try to built friend when you meet them.
B) Try to build friendship when you meet them.
C) Try to build friendly when you meet them.
D) Try to build friendship how you meet them.

15. Guide them to join in a orphanage
A) Guide them to join in an orphanage.
B) Guide them to join the orphanage.
C) Guide them to join a orphanage.
D) Guide them to joined in an orphanage.
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